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QUESTION 1

Does this topology/implementation comply with the 3-2-1 rule of data protection? Solution:An HPE MSA array creating
local snapshots on the same array Backups are made with Veeam to a local HPE StoreOnce system using MAS shares
Within Veeam a copy fob is active to a Veeam Cloud Connect repository target hosted at a public cloud provider

A. Yes

B. No

Correct Answer: A

QUESTION 2

Is this a correct statement about the integration of Veeam with HPE storage arrays and HPE StoreEver tape libraries?
Solution:Veeam Integration with HPE 3PAR StoreServ and HPE Nimble Storage allows the backup server to directly
communicate with the production storage to request a crash- or application- consistent snapshot, which is performed by
the array itself

A. Yes

B. No

Correct Answer: A

QUESTION 3

Is this a correct statement about Veeam Explorer in combination with HPE storage? Solution:veeam Explorer can
instantly recover a VM from a storage snapshot without prior designing and Intermediate restores

A. Yes
B. No

Correct Answer: B

QUESTION 4

You meet with a customer about a new data protection solution. One or the most important requirements is low RTO
and RPO numbers. In the range of minutes. The amount of data to be backed up is in the range of 50TB on an ISCSI
based HPE Nimble array. Is this a backup target that can validly be considered for the new solution? Solution: Install a
NAS device on the ISCSI network to enable data replication from the SAN to the NAS device by the backup application,
thus allowing fast recovery over the high speed storage network

A. Yes

B. No

Correct Answer: A
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QUESTION 5

Does this option describe a valid scenario for using the 3-2-1 data protection rule or the 3-2-1-1-0 data protection rule?
Solution:You Intend to use at least 3 different types of on-premises storage

A. Yes
B. No

Correct Answer: A
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